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Question Paper Specific Instruoctions
Please read cach of the following instructions carefully before attempting questions :
There are TWENTY questions printed both 2 HINDI and in ENGLISH.
Al queitions are compiilsory.
The numbir of marks carrted by o guestion [ part w indicated agonaf if.

Anasiers musf be written in the mediam authorized in the Adnussion Certificate which must be
stated eliarly on the dover of this Question-cum-Answer (QCA) Booklkt in the apace provided.
Nis marks will be giden for anstiers written in o medium other than the wuthorized one.

Answers lo Questions no. 1 to 10 should be in 150 words, whereas answers (o
Queations no, 11 to 20 should be in 250 words.

Keep the word limét indiceted in the iuvstions in mind,

Any page or portion of the page loft blank in the Question-cum-Anwvar (QCA) Boaklet munt be
elearly struck off.
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Why is Public Private Partnorship (PPP) roquired in infrastructural projocts ?

Exnmine the role of PPP model in the redevelopment of Railway Stations
Indin, (Answerin 150 words)

TN SR AlsEEn F s apae G avE R 7 wma 8§ sl fwm
ot & fom favim wmEm & wem w1 30 fafim (160 ¥#3) § Tt difa)

I inclusive growth possible under market econpmy ? State the siguificance of
finuncial incluston in schisving economic growth in Todia,
v (Answer in 150 words)
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What nre the major challunges of Public Distributicn Svatem (PDB) in Indin ?
How can it be made effactive and transparent 7 (Answer in 160 words)

W H R N 36 & wwe Al v w1 wiEen avky Sk |
(150 31=] #§ 39 Fitaw)

Elsborate the scope and significunce of the food processing industry in India.
{Answer in 150 wordd)
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The increase in lifo expectuncy in the country has Jed to newer health
challenges in the community. What are thoge challenges and what steps need
to bit takon Lo meet tham 7 (Answer in 150 words)
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Ench year a large amount of plant material, cellulose, is deposited on the
surface of Planct Earth,. What are the natural processes thig cellulpse
undergoes before vielding carbon dinxide, water and othor end products 7

LAnswer in 150 words)
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Diseuss o detail the photochemival smog emphasizing its formation, effects
and mitigation. Explain the 1989 Gothenburg Protocol.

(Answer in 150 waords)
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Explain the mechanism and occurrence of clondburst in the context of the
Indian subcontinent. Discuss two recent examples, (Answer in 150 words)
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Distnes the types of organised crimes. Desoribe the linkages between terrorists
und organised orime thot exist ot the national and transnational levels.
(Answer in 150 words})
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What wsre the maritime securify challonges in India 7 Disepss the
orfianisationn], téchnien! tind procedurdl initintives taken to improve the
maritime geeurity.  (Answer in 150 words)
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“Economic growth in the recent past has been led by mcrease in labour

productivity,” Explain this statoment Suvggest the growth pattern that will

lead to creation of more jobs withoul compromizing labour productivity.
(Answer in 250 words)
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Do you think Indis will meet 50 percont of its energy needs from renowahble
energy by 2030 ? Justify your nnswer. How will the shit of sibsidiss from
fossil fuls to renewables holp achisve the ubove abjective ? Explain,

LAnswaor in. 250 words)

wie d g sw & foow & oseiEh S seitge) sfea § o annd =
§ 2 (260 7=3 § 3 difam)

What are the main bittlenecks in upstream and downstream process of
murketing of agricultural products in Indin 7 (Answer in 250 words)
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What &s Integrated Furming System ? How ia it helpful to small and muarginal
farmers in India ¥ (Answer in 260 words)
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Lounched on 26'" Decomber, 2021, James Wobb Space Telsscope Hie beon
much in the news since then, What ire its unique features which muke it
superior to ita preducessar Space Telescopes ? What are. the key goals of this
mission ? What potential benofits does it hold for the human roce

LAnswer in 250 words)
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What is the basic principle behind vaccine development ? How do yaccines
wark 7 What npproaches wore adopted by the Indian vacene manoficturers to
produce COVID-18 vaecines 7 (Ankwer in 250 words)
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Diseuss global warming and mention 1ts effects on the global climate. Explam
the control measures to bring down the lovel of greenhouse gases which cause
globn! warming, in the light of the Kyoto Protogol, 1997, {Answer in 250 words!
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Explain: the causes and effécts of cosstal evosion in India, What are the

availuble constnl manigement technigues for combuting the hassrd ?
(Answer in 250 words
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What are the different olements of cyber security ? Keeping in view the

challenges in ovher seourity, examine the extont to which Indin hos
succusefully developed o comprohensive National Cyber Security Strategy.

(Anpwer in 250 worde)
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Nuxalism is a social, economic and developmental insbe manifesting as a

vinlent intermal security threit. In this context, diseuss the emerging iksues

and suggest a multilayered strategy to tackls the menace of Naxalism.
(Argwer in 250 words)
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